75

2500

.com



76

.com




“® ” “ ” EXCEL

77 .com



113 q) 1+
x:1=1:x-1 1 A
X(x- =1 Xor =14 ==
1 Xn
X- :7
_ 1
| =1+
X—l+7 1+ 1
1+ 11
1+ 1+--- ‘
J
78 .com




INTERMISSION

et P

79 .com



80

.com

10




.com



TR R

“ x:1=1:x-1" “ ”

x1=1lx-1 - 1=x(x-1)
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[ Zn+1: Zn2 +Cl!



EXCEL
2 5
6
3 18 P50
3 18
P51
A B C D

1
2 |=INT(RAND()*6)+1 |=INT(RAND()*6)+1 |=INT(RAND()*6)+1 |=SUM(A2:C2)
3 |=A2 =B2 =INT(RAND()*6)+1  [=SUM(A3:C3)
4 |=A3 =INT(RAND()*6)+1 | =INT(RAND()*6)+1 |=SUM(A4:C4)
5 |=A4 =B4 =INT(RAND()*6)+1  |=SUM(A5:C5)
6 |=INT(RAND()*6)+1 |=INT(RAND()*6)+1 |=INT(RAND()*6)+1 |=SUM(A6:C6)
7 |=A6 =B6 =INT(RAND()*6)+1  |=SUM(A7:C7)
8 |=A7 =INT(RAND()*6)+1 | =C7 =SUM(A8:C8)
9 |=A8 =B8 =INT(RAND()*6)+1  |=SUM(A9:C9)
10 |=INT(RAND()*6)+1 |=INT(RAND()*6)+1 |=INT(RAND()*6)+1 |=SUM(A10:C10)
11 |[=A10 =B10 =INT(RAND()*6)+1  |=SUM(A11:C11)
12 [=Al11 =INT(RAND()*6)+1 | =INT(RAND()*6)+1 |=SUM(A12:C12)
13 [=A12 =B12 =INT(RAND()*6)+1  |=SUM(A13:C13)
14 |=INT(RAND()*6)+1 |=INT(RAND()*6)+1 |=INT(RAND()*6)+1 |=SUM(A14:C14)

2.
x:1=1:x-1 1=x(x-1) A C
y=4x(1- x) 1 |=RAND()

X. = 4%, (1- X,) 2 |=4*A1*(1-Al) =INT(A2*16)+3
3 | =4*A2*(1-A2) =INT(A3*16)+3
0O x 1 , 4  |=4*A3*(1-A3) =INT(A4*16)+3
211 x(x-1) O, 5 |=4*A4*(1-A4) =INT(A5*16)+3
0 4x(1-x) 1 6 | =4*A5*(1-A5) =INT(A6*16)+3
4 7 | =4*A6*(1-A6) =INT(A7*16)+3
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